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IV Semester B.Com.2 Exammatlon Maleune 2017
(Repeaters) (2011 - 2012 Onwards)
CORPORATE ACCOUNTING ||

Time : 3 Hours . - Max. Marks : 80

Instructions : 1) Attempt all question/Sections according to mtemaf cho:ce
2) Simple calculators are allowed.
3) Give working notes as part of answer.

SECTION - A

1. Answerany ten of the foHowing.: |
~ a) What is meant by amaigamation in the nature of merger ?
b) What are the types of émalgamation asperAS—147
c) Whatis consohdated ba#ance sheet, why it is prepared ?
d) What is cost of control ? |
e) Write two differences between amalgamation and absorption.
f) Name two examples of contingent liabilities of a banking company
g) What is standard assets of a bank ? ‘
~h) Whatis Non-performing assets ? _
| i) What is statutory reserve created by banking company ?
~ [) Name any four operating expenseé of a bank.
- k) What are the kinds of. _reconstructibn 7

l} What are non-banking assets ? . o (10x2=20)

P.T.O.
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SECTION-B-

Answer any three of the f_oll_owing L

- 2. Compute purchase consideration, gbddwill or capital reserve from the following

information: - : .
Particulars  MLd. R. Ltd. |
Share Capital ©2,00,000 1,50,000

.8%_ debenturés B 1,0(_),(50_0 _ - |

Creditors 50,000 - 50,000 -

Land and Buildings ©1,20,000 Aso.o»oo

Plantand Machinery 2,10,000 _ 60,000

Destors - . 20000 60000

M Ltd. and R Lid., have agreed to amalgamate and form new company called
‘MR Ltd.’ to take over and above concerns on 31-3-2013. ‘MR Ltd.’ agreed to |
assume 20,000 equity shares of Rs. 10 each at a premium of Rs. 2 per share 1o
‘M Ltd’ and 10,000 equity shares of Rs. 10 each at 20% premiumto RLtd.

3. Prepare profit and loss accdu_nt and‘calcu,late statutory reserves from the
following of Laxmi Bank Ltd. on 31 -3-2014. - '

| | A "Rs.

Interest earned o | o | - 40,00,000

* Otherincomes o 10,00,000
Interest expended L C ‘ 18,00.000
Operatihg expenses S — R ‘12_,00,000 _
Profitand Loss a/c (1-4-2013Cr) 10,0000
Rebate on bills discounted S ‘ 1,00,000 .
‘Provision for R:D.D. - - 150,000
Proposed dividend S ~ 3,00,000

ProvisionforTaxation I ~ 6,00,000
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4. Compute purchase conéideration, goodwill and capital reserve from the following

information : - -

Pafticulars _ L " Ashaltd. ‘Bhosale Ltd.
‘ o ~ Rs. Rs.
Assets - 300000  2,50,000
Liabilities. - | 100000 75000
Equity share capital of Rs. 10 each 200000  1,75000

Asha Co. Ltd. and Bhosale Co. Ltd., have agreedto arﬁalgamate and form new
company called Asha Bhosale Co. Lid_, to take over and above concerns.

Asha Bhosale Co. 'Ltd., agreed to issue 20,000 shares of equity shares of
Rs. 10eachata premium of Rs. 5 to Asha Co. Ltd. and 15,000 equity shares of
“Rs.10each at 10% premium to Bhosale Ltd. - R : - '

5. On 1-7-2013 Anand Ltd., purchased 8000 shareé of Rs. 10 each in Babita Ltd.
at Rs. 15 per shares. From the following Balance Sheet of Babita Ltd. as on

31-12-2013, |
Liabilities = Rs.  Assets ~  pg
Share capital : | Fixed Assets | 1,20,000
10,000 share of Cu rrehtAssets A_ 50,000
" Rs. 10 each 1,00,000 | | | -
General Reserve o
(01-01-2013) 20,000
Profit D
(01-01-2013) 24,000
Current Profit 16,000
Creditors - 10,000 | |
- 170000 | 1,70,000
Calculate : ' ‘

a) Cost of control
b) Minority interest,
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' 6. Bangalore Ltd. received the sanction of the court for reducing its capital and for
internal reconstruction : ’ :

a) Cancellation of 25000 old preference shares of Rs. 20 each fully paid by the |
issue of same number of new shares of Rs. 15 each. :

b) Cancellation of 25000 old equity shares of Rs. 15 each fully paid by the
issue of equal number of new equity shares of Rs. 10 each fully paid.

 ¢) To write of debit balance of proﬂt‘ and I'oss account of Rs. 1,05,000.
~ d) To reduce the value of machinery by Rs. 45,000 and that of goodwill by

Rs. 20,000. | ~ |

e) To reduce the value of investments to market value by writing off by
Rs. 40,000. = ' | .:
Pass the Journal Entries in the book of Bangalore Ltd. | (5x3=15)

SECTION-C
Answer any two questions of the following :

_ 7. Following are the Balance Sheets of Prerana Co. Ltd. and Pratiksha Co. Ltd.

~ on31-3-2013.

Liabilities _ Prerana Pratiksha Assets » Prerana Pratiksha
| Rs. Rs. Rs. Rs.

Share Capital : | Fixed assets : . |

Equity Shares . Goodwill 75000 40,000

of Rs. 10 each 9,00000 150,000 Landand 450,000 1,220,000

10% preference A ~ Building ' |

shares of Rs.10 1,00,000 ~  Machinery 3,00,000 90,000 -

Reserve and. ' investment

Surplus : I in Pratiksha

General Reserve 90000 60,000 Ltd. 12,000 |

P&Lalc(14-2012) 60,000 15000  shares . 1,90000 -

Currentprofis  1,50,000 60,000 - LoanandAdvance: -

Current Liabilities : - ~ Stock 240,000 . 75,000

Creditors 1,85,000 1,05,000 Debtors 1,50,000 80,000
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Bills Payable f 40,000 35000 BilsReceivables 25,000 10,000
| CashatBank 95000 10,000
15,25,000 4,25,000 15,25,000 4,25,000
Additiohal Information : | | | ,
a) .P_rerana Co. Ltd. acquired shares in Pratiksha Co. Ltd. on 1-10-2012.

b} Gen. Reserve of Pratiksha Co. Ltd. on 1-4-2012 was Rs. 10,000.

c) Bills payable of Pratiksha Co. Ltd. _inbluded Rs. 20,000 accepted in favour
- of Prerana Co. Ltd. out of which Prerana Lid. discounted bilis worth
" Rs. 12,000. o

d) Creditors bf Pratiksha Co. Ltd. included Rs 50,000 for goods supp!ied by
Prerana Co. Ltd. at cost plus 25%. Half of the goods were purchased in
stock of Pratiksha Co. Ltd. '

e) .Machihery of_ P_ratikéha Co. Ltd. wef_e undervaiued by Rs. 15,000.

Prepare consolidated Balance Sheet in vertical form of Prerana Co. Ltd. on
31-3-2013. ; o - »

8. Sneha Ltd. and Sagar Ltd. decided to amalgamate their business and form a
new company called Sneha Sagar Ltd. with an authorised capital of Rs. 10,00,000
divided into equity shares of Rs. 10 each. The following were their Balance
Sheets as on 31-3-2013. ' :

Liabilities " Sneha Sagar Assets Sneha ‘Sagar

| Ltd.  Ltd. Ltd. Ltd.
Equity Shares | - Goodwil - 80,000
of Rs. 10 each '6,00,000 3,00,000 Premises 500,000 360,000
8%debentures 160,000 - Stock 90000 60,000
Reserve fund - 170000 Debtors  1,10,000 30,000

Profitand loss Ac = - 90,000 Bank 10,000 18,000
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Creditors 0000 48000 BR 30000 -
| | Profitand
joss Alc 90,000 _
530000 548000 830000 548,000

Additional Informations : S |
1) The assets of Sneha Ltd. were taken over on following adjustments.

a) Premises and stock were depreciated by 10% , o -
b) R.D.D. at 5% on debtors. .

c) The liabilities are taken over of book Valués.~

2) The assets of Sagar Ltd. were valued as :

Goodwill Rs. 50,000, Premises Rs. 3,75,000 and Debtors Rs. 25,000. '

3) The stock of Sagar Lid. include goods worth Rs. 12,000 purchased from Sneha Lid.
on which the Later co. made a profit @ 20% on cost. The creditors and bank
balances are transferred at book values.. o

4) The purchase consideration is paid in fully paid shares. _ : )
Calculate P.C. and prepare Balance Sheet in vertical form {(apply purchase
method) ' ' : ‘ o :

9. From the following Ledger of the RaniChannamma Bank Bangalore. Prepare
Balance Sheet as on 31-3-2015 and related schedule. o

Particulars | - -~ Dr. . Cr
 Share Capital 20,000 share of Rs. 10 - 200,000
Statutory reserves o - | 1,50,000
Net profit for the year (before appropriation) - | 2,50,000
- bpeniln'g profit and loss account j R 2,'00,000.
Currentalc - | - - 6,80,000
‘Saving Bank a/c | | - 220,000
Fixed deposits | 300000
Borrowing from other Banks — A 1,60,0()0' |
Bills payable - - 40,000
' Cashinhand 200000 -
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Cash with RBI _' o 50,000 -
‘Cash with other Banks -- 2,40,006 | = |
Money at call o | 1,10,000 | -
‘investment in Govt. Secuntles | 1,40;000' ,' .
Investmentln Gold o 40,000 L
' Bills purchased and discounted . 300 000 -
Cash credit and overdrafts 475,000 -
Longtermloan . 5,25,000 | -
Premises (Cost Rs. 1,20,000) | 90,000
Fumitures (Cost Rs. 50,000) 30000

- | 2200000 22,0000

Other information :

1) Qlaims against the bank not acknowledged as debts Rs. 20,000.

2) Acceptances and endorsements Rs.1,60,000.
3) BI"S for collection Rs.1,50,000.

-Shree Venkatesh Ltd. agreesto absorb the Padmavati Ltd on 31-3-2014 andto
~ take over the assets and liabilities in exchange for which to issue 7 shares ot

Rs. 10 each fully paid for each shares of Rs. 50 each in Padmavati Ltd. The
expenses of absorption of Rs. 5,000 are paid by Venkatesh Ltd. The following
is the assets and liabitities of Padmavati Ltd. as on 31 -3-2016. '

Liabilites .~ Amt Assets Amt.
Share Capital Building _ | 1,50,000
4000 'shar_e of Rs. 50 | B Machinery 60,000
each fully paid ' 2,00,000 Stock 50,000.
. Reserve fund | o 30,000 Debtors = 40,000

ProftandLossA/c 15,000 Bills Receivable 15,000
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Contingency Reserve 10,000 Cashinhand . 5,000
Creditors .~ 40,000
Employees saving - |
Bank deposits 25,000

320000 " 3,20,000
You are _asked to: |

1) Calculate purchase' consideration.
2) Pass Journal entries.

3) Show the incorporation eniries in the book of Venkatesh Ltd; | (2x1 5=30)

 SECTION-D
Case Study (Compulsory)

Foliowing is the Balance Sheet of Mona Ltd. as on 31-3-2017.

Liabilities ~ Amt. Assets ~ Amt.
Share Capital = Goodwill 8,00,000
4.00,000 share of Rs. 10 40,00,000 , Machinery 40,00,000
Other liabilities - 28,00,000  Stock ~ 15,60,000

|  Cashinhand 40,000

| ~ Profitand loss A/c - 4,00,000
68,00,000 ' 68,00, 000

Draft a proper scheme for reductxon of capital which would help the company to
re-organise on the following terms.

1) Write off loss balance and goodwill fully.
2) Depremate machinery by 10%.
3) To reduce stock value to Rs. 11,60, OOO

Also pass the journal entries and draft a Balance Sheet ason 31-3- 201 7.
(1x15=15)
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Reg. No.

v Semester B.Com.2/B. Com 3 Examination, Maleune 2017

(2016-17)

FINANCIAL MANAGEMENTIFUNDAMENTALS OF FINANCIAL

MANAGEMENT ,
(Regular AND Repeater)

Time : 3 Hours | | - Max. Marks : 80

Instructions: 1) Attempt all Sections according to internal choice.

RRITE0 ! &o30F e—mizg DEplelr o) Qwﬁﬁ% FOR0.
2) Use of simple calculator is allowed.
7 5 wd%o%z%ﬁ T IR AT

3) Section D is compulsory.
DTt - &3 R0,

SECTION —A/on-—-e

1. Answer any ten of the following :
Iemes &g% ivcielisH
a) Define Finance.
- BroBIRd 83 200,
b) What is Financing Decision ?
TEITAD VI CD 0TIV 7
c) ‘What is wealth maximisation ? |
| BORGE NOKSFBTED 0BT ?
d) Define capitalisation. .
OBTVETTED 539,35, LTCUD.
e) What is point of indifference ?
FHTBRTHE LT TSI 7

f) What is watered capital ?
et Wotsmes 0wdeRd ? -

© (10x2=20)

P.T.O.
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g) Calculate book value of shares. Sundry Assets Rs 2,00, OOO Sundry Liabilities
Rs. 80,000, 2000 shares of RBs. 10 each.

Bechrtd Y R JoTLBC0, A Ur.2,00,000, BRmmodis s, 80,000,
wé 30 ab" oe) cﬁa 10, 2000 éedaﬁ%b '

h) What is an optimum capital structure ? |
STBF WOrseIw T3S RoTBe0 ?

i) What is permanent working capital ?
T B TOROZ0EI LIOBEIIT 0TI ?

i) What do you mean by spec_i_fic cost of capital 7
DOFE, WoBsY FY, HOETE P

k) What is trading on equity ?
RESTF, BeTo Qe B DOV ?

1} A company issues 20000 10% Preference shares of Rs. 100 each at par.
Cost of issue is Rs. 2 per share. Calculate cost of preference share capital.
2,003 000 Sedw 10320000 Sw. 1003 —’cﬁa:b BER BTN LN SRR,
52 Seosaetasond i, Up.2 A FRD IS EANNE e S gertaon0

SECT!ON - Blé&?,;azi -

Answerany three of the followihg: - L '(3¥5=15)
zﬁe@d ST, e‘mébm- ' | ‘

2. Critically analyse the profit max;mlsatlon objective of financial management
TeITORS VI3 HEOD ot ﬁﬁw@idt@d emdezﬁds) &);’nﬂar%aw\ﬁ DORD.

3. Abinava Company Ltd. has sales of Rs. 6,00, 000 Variable cost of Rs. 3,60, 000, E
Fixed cost of Rs. 1,80,000 and debt of Rs. 2,00,000 at 10%. Calculate operating
leverage and combined leverage.
if the company wants to double its EBIT, how much of rise in sales would be
needed on a percentage basis ? .

2920353 BomR DaotdtES Wrvets Te. 6,00, 000 RITRTES 5?3 dJa 3,60, OOO Ndasacj
=3, de. 1,80,000 =03 Jedwsd 10 8 208303 s30e¢ dre. 2,00, 000 1@71@53’;3 draoacﬁ
“e@ 53RI3 Fozod Dmr$5 DEITOAD abéo WNREAE AN BOESREO00D.

2,003 5368 BomAGIY 35 2@ oz Zont wpdrcﬁ c):)z; EBITododa 0, mmﬁm@"aﬂmdd
RRTITY, D, éd@mﬁaﬁe@é&@dzﬁo BeBEITNTE), 30%0, ’
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4. Explain the charact_eristics of optimum capité} structure.
BTIF Wored Teddosd wBLRriTR) HBOXD.

5. Following are the particulars of capital structure of PQR. Comp. Ltd.

Sources of Finance - Amount Specific cost
Equity capital - 4,00,000 15%
Prefefence share capital 1,00,000 - - 12%
Debentures | 6,00,000 6%
Retained earnlngs . - 1,50,000 - 12%

~ Calculate the welghted average cost 6_1‘ capital.

PQR g0z R030258 90 todmda el it 8 S e  d9ngosss

VOBIHR AL 3e3 by

mmﬁgé’ed)édocémed 400,000 y 15% _
SED DI FedwodmE 100000 12%
modgnd 600000 6%

- RRERORTS ot 150000 12%
a@szs ROIR0 SIS BorEBCI0D. .

6. AB.C.Ltd. has 15% perpetual bond of Rs. 1,000, tax rate is 30%. Determme
- cost of bond after tax when they are issued at :
a) par |
b} 10% discount

c) 10% premaum

2.29.2. BoBOH0 8. 1,000 Lo 5@%@ 1 5(3 woﬁ:gr{e}da RRNE DR, 3o
w3eY Be. 300, @y 3ot Fo33 -aexS mm BORBRCWD. —aoa‘:gn’%ﬁm =3 %ﬁéou
WERING mcéejahd

a) @o0WSH

b) 3¢ 108ZneaR

c) 3e 10 T eaoohar n,
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SECTION C/&)mzf 2

Answer any two of the following : | | (2x15=30)
e3e5C3 adzé@& SUBORO ' '

7. Whatis Financial Management ? Explain the factors inﬂuenCing financial decisions.
BTN VTS 0TS 7 BT VeDF e sdee TR wed)d ©0BYR SITORR.

8. Define under- capitallsatlon Explaln causes, effects and remedxes for under—
capitalisation. :

oo OFT T mm’ wc’omé ejao’ B0, O monegd a’oa’g
_ wamdrae“acmﬁ#ab adma

9. Following is the Balance Sheet of ABC Ltd. as on 31-3-2015.

Liabilities | Amount Assets " Amount
Share capital ' R |
Equity shares of Rs. 100each =~ 2,00,000 FixedAssets  3,00,000
10% Preference shares 50,000 Current Assets  1,00,000
'Reserves and surpluses 100,000 _ '
Current liabilities 50,000 ,
4,00,000 4,00,000

The normal rate of return in case of similar busmess is.10%. Ascertain whether
the company is over capitalised, under-capitalised or fair capitalised. The earnlngs
. available to equity shareholders are :

a) Rs. 25,000
b) Rs. 40,000 and
¢) Rs. 30,000

Further you are required to comment on the above sntuat:on from the point of
view of the company and shareholders.

31-3-2015 Tot fadozo’ABC FOTR QCINWBT rgess BT B3 ??%?ﬁcooéd

BRFBMOBND : BRZ eand d.rag
TR, 100 Bde3eiodd ma’ma’k
JeD WoB=E 2.,00,000 %}mﬁjﬁ% -~ 3,00,000

Jedme 10 T D5 51%5 BT LOBERY 50,000 ¥oRAnL 1,00,000
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DR QO 1,00,000
23T BRBOOBND ' 50,000
" 400000 4,00,000

e3¢ édmd daﬁmdd@ Bese 109 cm;fdﬁo aéez’mc:md RO, BedoeTont

Ratter vt e:azj a) d=. 25,000 b)da. 40,000 c) d. 30,000. 2O FoBACH

LOWTLETTOR) WTWOBTIPETT, BIWoETLETT 9T o&:aen
LIR30 e 5053&0@0&30 TN BOEIR 33083 BeTTTT G Rp00T edab

" c‘DD"GwN@

Sagar Ltd. has Equity share capital of Rs. 5,00,000 divided into shares of
Rs. 100 each. It wishes to raise further Rs. 3,00,000 for expansion ptan The.
company has the following alternative financial plans

a) All Equity shares
b) Rs. 1,00,000 Equity shares and remamlng in 10% debentures
¢) Allin 10% debentures -
d) Rs. 2,00,000in 8% Preference shares and remaining in Equity shares.

The operating profit of the com_pany is Rs. 1 ,50,00_0 and.tax rate applicable-is
40%.

Determine EPS in eaoh plan and comment on the |mpI|cat|on of financial
leverage.

TTT 20103 :Joﬁww gn. 100 3o dwe. 5,00,000 & “aa’ba?% et WOTERT BRONT,

3§ QRTED od.raezsdﬁ dr. 3,00,000 wormy Ao me) uo'i}od » @cﬁaa 8 NS
2523 o&aeu?”smfﬁx} BRODT :

a) 23 dw. 3,00, 000 —adfaf Bedontd Fared
b) 3.1 00 000@3)3% zaedwmwmm mdmmwmmgmmw

)
) 2R, 2I0TIOVII) e 108*;3@—’37{0.4 DR
)

d) d=.2,00,000 Eﬁeécsasd B d&d BeToNY DT Tt D Mﬁ& ) AR,
Sedonts dmeﬁ : A

RACRED TODF VI BEBOD o023 B, 1,560,000 [T, e:ac:be?eifzaamdéeﬁ oElevesjal
33 égﬁm@rﬁ@ds zéozsaao@coob |

Foodeond Bramas alpendion T SO7 168 Bte SB0E B A
fmmrim Qamaﬁo ‘ ’
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SECTION - D/oweri— &

Case Study (Compulsory):_- : | o o f - (1x15=15)
F¥0 €3 0003 (BTed) - | | o | S

M/s Sadanand Industries provides the foliowmg information for the year 201 5.

_Calculate working capital required.

The elements of cost bear the followmg relationship to the seumg pnce of

~ Rs. 200 per unit.

- Material 40%
Labour 300/0 _
.Qverhead 1-0%

Production in 2015 estlmated to be 600 units

Materials are expected to remain in the stores foran average penod of one month

' Finished goods are likely to stay in warehouse for two months on average.

Each unit of production will be in process for half a month on average.

50% of sales will be on credit. Customers are alliowed two months credit.

Credit period aliowed by the suppliers of geo‘ds is one rnonth. Lag in payment
of wages is one month.

Allow 20% for contingencies.
Debtors should be taken at selling price.

Assume that sales and production follow a constant pattern.

3o R <aon§~ eaF 20153 wﬁrdoé 20 6@?\5 ai:a&oéodada udmati 73??
zﬁeﬁaﬁuaéamcﬁ z:b@cm)d PR ST E AR "’a’;medab BOOHBOWD.

OB UL PO, ai)ao:)u 2363 0. 200 d@ B3 3INS %mm@ab BROWTS
)] Ndd)ﬁe}o 40%
me | -30%
RHNTES ﬁzi 10%
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Tg Sar B 600 CINRT T GUSITRODR) DOSFNG,
53 530ty R09R0 0> Soren cRmARTYE,
RoRrh ROORD 2.0 SORERSR COmMIROTGS. |
. B0lecch s AoaR0 15 ORRYETH s H30lohamiEs
. Se8m 500, RRooki EuTOaTRNCEH sy TR EROR2 Sorté 6D DTRTTEC
. QS Ed ot Sor oD APt DeETT. - |
.+ 30O IBICNE 20T S0 IPOWTRITT, |
. eR0esg Sertoron Sedm 20 dib, Beosy IoReRIES,
209y i) RO ECHE, Foriesridd
. oomns more SRoet BOBROIIIN SEekuss.
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IV Semester B.Com. 3 Examination, May/Juné 2017
~ (Regular) (2016 ~ 17) |
BUSINESS_ COMMUNICATION

Time : 3 Hours | o S C , "Max'. Marks : 80

Instructlons 1) Answerall the Sect:ons according to mtemal cho;ces
' 2) Due weightage will be given to neatness.

3) Useimaginary names and addresses, data etc. wherever
necessary. .

SECTION-A
" 1. Answer any ten of the following. - o (10x2=20)
a) Define comrﬁunidatibn.'- | |
- b} Write _the.i‘o_ur phySicaI aspects of a businesé letter.
c) What do you mean by ‘AlDA’ technique inl steps of writing ?
d) Wnte any two beneflts of choosing right words in wntmg skﬂls |
e) Mentlon any two types of messages.
f} Mention the types of enquiries (requests}) in DUSiness;
'g) Expand— i) C&F i) FOR i) URand iv) COD.
h) Write any two reasons for complaiht letters in business.
i) Def_i-ne_ areport. | »
i) Write any two differences between letters andArépoaA'ts.
| k) Whatdo ybu mean by soiicited application letters ?

I) Write any two objectives of interview.

P.T.O.
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SECTION-B
Answerany three of the following. = o : _ (3%5=15)
2. Brieﬂy_dis_c:l_jss the features of communication. |
3. Briefly explain the various barriers to communication.
4, Discuss the steps involved in writing as a'part of writingskills
5. As the secretary of your co[lege gymkhana, write a letter of enquury to Novet
Sports Dealers, Hubballi for supply of sports goods. :
6. Write on behalf of Smruti Electricals, Davangere, to Spark Electnc Sellers,
Chikkodi, a bad news of rejectlng their credit request. .
SECTION_‘-—.C
Answerany twoofthe following. =~ =~ o . (2x1'5—-30)
7. Discuss the various parts. of a busmess ietter And show the posstlon of each
part.in Fu[ly Block Form. L
What are the comp}alnt letters ? Wnte a complamt Ietter regardlng supply of
inferior quality goods and not matchmg with the samples. Ask for replacement or
“generous concessions. , _
9. Distinguish between BIO data and C.V. Drafta letter of interview for the post. of
Senior Accounts manager lnformmg the date time, venue etc '
10. Bneﬂy discuss the requisites of a good busmess repori _
As the H.R. Manager of a company, draft a report on mdlsc;pime among the
employees and give the rules of discipline.
SECTION-D
'Case'Study—Compmsory question. - A : . (1x15-=1_5)_ _
11 a) As atrainer in business communication, explain the three ‘Methods of

Announcing Bad News’ to the trainees.
b) As an advisor to a business firm, guide on different ktnds of offers (quotations).

c) As a member of structured (patterned) interview committee, list at least
10 questions to be asked to a candidate for ‘Accountant Job' meant only for
B. Com graduates. : :
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Saic? esda

m@zséo’dsb 1) m@’@f aaa?ﬁef FEU R &)@nﬁ:ﬂn’cxua’avo
2) oeE SFEDCBIOID. _
3) cﬁata’s:)a@ aawaa’a‘aﬁ) OP% aiaaoa’wsfﬁo

| _;)mri— Qo
1. SonSRInS, dems m@cse 3, GuI0R0. - - (10x2=20)
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23421/D 210

IV Semester B Com.2 Degree Examinatson, Maleune 2017

(Repeaters) (2011-2012 Onwards)
HUMAN RESOURCE MANAGEMENT.

Time : 3 Hours

Max. Marks 80

Instruction : Answer all the Sections according to the mtemat chorce

So30F efagn‘@nﬁbrbmn pelr) eown?fvm exva’o,m

' SECTION -A

1. Answer any ten of the followings.
39NS &3y BIROR LuZoRO.
a) Whatis HRD ? -
SnIR RoTIRY LW ) 0BT |
b) Mention two HR plan ning probiems |
RIS A oa:’xr%@ odRemIoD 2 RRORNYR), s@,q
¢) What is walkin Interview ? -
- T RonBeS 20wBesd ? B
d) Whatis Job Analysis ?
3 DBeRS 20T
e) Whatis placemént ?
m@aeﬁdmd 9,83, QedD.
f) Explain two reasons for absenteeism.
RS0 Ewoedn @dd;’%;dsa 3OR.
g) What is Motivation ?
B0 0T3O ?

(10x2=20)

P.T.O.
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hy Whatis 'perfor'mance appraisal 7
TObF REERES DR w8, 8280,
" i) Whatis mentoring ?
BRnF O3S 208> ?
j) What is incentive plan ?
TP TE 03RS 0BT T
k) What is promotion ?
Brne3s 203Be 7

) What is HR Audit ? |
TRTS RoBIQEOBO 7, TOBRGS 20T3ed 7

SECTION-B

~ Answer any three of the followings. | - | . (3x5=i5)

$9NS ath FErer evg020.

2. Explain the objectives of HRM.

RReS Romg HERESD B0, (VIR IR0,

3. What are the advantages and disadvantages of Internal source of recruutment ?
z;ﬁémcﬁ:rd £50308 Sowwrs BRBReE TNR e@&ﬁﬁ@éﬁ#& MON@

4. What are the responsmlhtles of HR Manager ?
RPET RoTIRY qsm-a@m mmmaﬁﬁsﬁ@ladb&&

5. Differentiate Job Evaluation and performance appraisal. -

AR RPRRTR T O RN R0 SRS ZTB 308

6. Explainthe types of training.

3oLIe3cHOT0T BOTT gadﬁeﬁﬁglé@m. |
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| SECTION-C - |
‘Answer any two of the followings. o o (2x15=30)

#9130 Zgriert wgoRD. |
7 Explain the objectiire's :and importance of HRP, | |
e Aol olaeon sucdeents Tt S 300
8. Whatis meant by recruitmént ? EXpI.ain the proéess of recruitmént.
zdsrodo eﬁrmb O escﬁd 503:013& 3020,
9. Distinguish betwee'n trainin’g-and development. |

Johies st eeps Q0% B3 A a0,

10. Whatis incentive plan and what are various mcentlve plans ?

- de@d aliers) odmmaﬁﬁﬁiodde& 9 e@n’# @dﬁ#ﬁg{ 920,
» SECTION -D
Case Study (Compulsor_y). . | A » (1x15=15)

11, a) Mr. Chetan and Mr. Vijay are the experience workers of the L&T Company
 decided to resign suddenly These vacancies are remammg unfilled for the
last 10 months due to that the work is suffering — As a HR Manager how do

you solve this problem.

0. e 08y HwodSR L&T sow:oom 533D RO, 5230 eaceasmn |
33y @O oY ~®~m8 39310 Sorlenor &s Bocgrico s adIcood

R qundﬁéomocﬁmﬁﬁd wdoots PNV ROBIRE ;{mmm *‘ma%oﬁoa’o
Bert ot 0RO 9
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b) Mr. Dheerajis newly appointed empioyee of JD Co. Lid. expecting training for
the good performance. As a HR Manager what kind of training you prefer,
comment.

bt Somcm@ . PETRTI BRRPNSEDS aaraoacb 30e3e803 &Oeﬁo:b@md
33@ RRR ROTBRY &, mw#oah cﬁ):)d 3623&%01)33 waz.%w&)b ébdaa

¢) The workers union of ‘X’ Co. Ltd. wenton stnke due to lack of safety measures |
atthe productlon department asaHR Manager how do you face this dlﬁlculty.

X’ 8o. Q. BICRMWOD 0T oS nodisa 5&7«3& éﬁdnifao@oasou ErYetsotalerad

ORI waoe%broaad %), RIS ,qoa:’ai@o dm“’imﬁ B3 Ra0R, Q'bab Bert
ezabanoé:)a ?
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Reg. No.

v Semester'B Com.3 Degree 'Examination, MayIJuné 2017
- (Regular) (New Syllabus) (2016-17)
INTERNATIONAL BUSINESS ECONOMICS

Time: 3 H.ours : . o Max. Marks : 80
!nstruct;ons 1) All sub questfons should be answered contmuously atone
place. _
ReTme0 : D VDZITON 2,085 86 SISO LTA20,

2) All Sections should be answered in the same answer book.
D OGN w_go?f@ odle ev30 TEFANEG LT,

3) Diagrams should be drawn wherever necessary.
BTG DTG Tew0edZ ) Sriotedexs

'SECTION-A
 open-e
1. Answer any ten of the following in 2-3 sentences each: ' (10x2=20)

| NS SemB R BIROR 2-3 WYY, g0
a) What is international trade ?

t-soédoaé%eob 259,500 20TBe0 ?
b} Who advocated the comparative cost theory of international trade ?

£I0BTTDRY €03 59 TS Bo0T0ZE 523&3 foaaoSdab BT DATR 03T 7

c) Whatis balance oftrade 7
- RIS I8 0T3BeR> ?

d) What is devaluation of currency ? -
TEOOTS L5TIIVY, OTTEI?
e) Give the meaning of rate of exchange ?
DO WOLS G BRAO. |
~ f) Who has developed purchasing power parlty theory of rate of exchange ?
DRI &S00 RSB FFad RORBRNI0H Na%ozdg ejzpa’gpo DRATINT 03T ?

g) What is spot rate of exchange ?
AT QREII0D T 20e3Be0 7

P.T.O.
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h) What is |mport tariff ?
3T RO OB ?

i) Mention any two features of mtematlonal business.
eoédmm Nevsirtatnlelas m@md&a QTR oﬁsaﬁeéab 8%0

7} Give the meaning of MNCs.
us.voa%ew FomANG T TRRO.

k) Expand SAARC.

SAARC ) 0708 130200,
) Expand IBRD.
IBRD 0203, 0503 280000.
' SECTION-B
TN - W
Answerany th ree of the following questions : o (3x5=15)

BN LI TN ﬁér{@ﬁ SUBORD :

2. Distinguish between internal trade and international trade.
50808 39,700 B8 esoédcaw €0 FRFTITT 5633&)5 R ,‘o’r{ej;b 3020,

3. Acountry’s balance of trade posmon is as follows :

Sl.No. ltems - in crores
1) - Exportofcotton . - 2,000
2) import of petrol 3,500
3) Exportoftea . 500 .
4) Import of machinery 1,000
5) Export of sugar 1,200

Find out whether a country’s balance of trade is favourable or unfavourable ?
BT ST wWod waﬁ@é&a £8 AT :

3.dosd  wmwwnied 203 B, ﬁeéo
1) BICH T 2,000
2) - Eedgest saed 0 3,500
3) wWEo Ty 500
4) o303 NS e:sabds ' 1,000
5) g B0 Sy - 1,200

R0 €308 @ozﬂﬁ@od 68T T m%om eﬁmmoédmﬁdo&rae @qﬂm
P F RTINS0 @owa’@{ BCEIZRBOND.
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4. ' |

Explain the functions of foreign exchange market.
DTed VTR WRTBEIED TROOF NFR, DTWORD. -

Distinguish between domestic business and international business.
weé Nevtind ;’;md m eao:a’dcaaa Sesvvbaatel RN SRR 975533 :;’r\’e:fa”o LD,

Discuss the charactenst;cs of MNCS
uﬁ:oa%eab FoTIns wﬂ saﬁe;gbq 2323620,

SECTION-C
BtAry S

Answer any two of the following qu'estiohs : . o ’ (2x15=30)
FINT WerT 20D FIren evgod:

7.

1.

Critically explain the comparative cost theory of international trade.
0BT 000 T, TOTT @b@m’%é ﬁaéd ATIOBRT) E36TIZBT0N aweﬁoe

Describe the purchasing power parlty theory of rate of exchange What are its
limitations ?

R0 Fow et Sacm meséodo RTROBI 3 A0 €T3 'amﬁ%@@ 9

Discuss the characteristics of mternatlonal busmess
UO@dU&%@OC’O a’%daa:}dd @i 9@#@3& 033 2,0,

10. | Examine the advantages and disadvantages of MNCé. |
WRI0IL, 0K BOTANS eBRUBED 08 OPDBROUINVRY FOeEXD.
SECTION-D
n- @ |
Case study (Compulsory): o A . | -  (Ix1 5=15)
%é@ddm#(#moﬁoa}e?)-' -
Following are the items of exports and |mports in respect of India.
Sl.No. ltems - In crores
1) Export of goods 5,000
2) Export of services 2,500
3) Export of machinery 1,500

4) Export of raw-materials 1,000
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5)
6)
2
8)
9)
10)
11)
12)

Questions
a) Whatis

| 4
- Gifts received 2,250
- Capital received - 3,250
Importofgoods - 8,000
Import of services =~ 2,000

Import of machinery 1,200
Import of raw-materials 800

- Gifts offeredto Japan = 1,000

Capital payments 2,500

balance of payment ?

N 5

b) Prepare current account and capital account of balance of payments using

above d

- ¢) Whatis balance of payment position of India ?.
008 B3 Tig) Rosy o woriore S5 FFNR0S,

3. 30935
1)
2)
3)
4)
5)
6)
7)
8)
9)

10)

11)

12)
BIrico:

ata.

LTOLONED B0l BR.AFY.
Aoeriv oy - 5,000
AeSns o 2,500

- obodreREdeny OF) 1,500
2w, IHne o) 1,000
TS woedErdy 2,250
| Todk worwd 3250
IO SR 8,000
 AeSndend 2,000
- 00BReTEENY wRBoD 1,200
ﬁm RN 553000 - 800
padsantd deeﬁ% QeRT Easéimb 1,000

RSN wozﬁm@ 2,500

a) RoTRo 1E DT 9

b) Roeen e 908 Foag NP AT OROT BOTHO L0 13E) a3 io@a uocémeé méo:bda
3m5~@

C) 003 B3 Romwodd LI 23 0 7
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Reg: No..

- v Semester B.Com. 2/B.Com.3 Degree Exammatlon, May/June 2017
' - (Regular and Repeaters) (2016 - 17)
COMPUTER APPLICATION IN BUSINESS - Il! |

Time : 3 Hours . - Max. Marks : 80

lnstruct:ons 1 ) All Sections are compulsorysubjecr to internal choice.
2) Sect:on -Dis compulsory

SECTION -A

1. Answerany ten questions. Each carries 2 marks B - (10%2=20)
a) Whatis an algorithm ? . '
b) List any two advantages of flowchart.

¢) List the character set used in C.
d) Whatis variable ? Give example.
e) List the retational operators used in C.
f) Write the syntax of printf() in C.
~ g) Define Search Engine.
h) Name any four web browsers.
i) Whatis uploading and downloading ?
j) What s Telephone Banking ?
k)' Define Supply Chain Management. |
) Whatis the need for web based marketing?

SECTION B
Answerany threequestlons Each camesflve marks - (3x5—15)
2 Write an algonthm and draw a ﬂowchart to flnd sum and average of three numbers :
3. Writea C program to accept purchase amount and sales ‘amount and display

whether incurred profit orloss. .

P.T.O.
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4. Explain the if-else statement in C with syntax, flowchart and example..

5. Explain the fea_tures of Internet Banking;

6. Explain the different types of web based mark_eting.

SECTION-C

Answerany two questions. Each carries 15 marks. o (2x15=30)

7. Whatis Ioop:ng ? Explaln ail looping control statements with their syntax ﬂowchart

10.

11.

and example.

What is Internet ? List the hardware and software requirements of the internet
and list the major uses of the internet.

Explain the features and services provided by the internet banking.
Write short notes on : |
a) CyberCrime
b) EFT
c) 4P’s in Internet.
| SECTION-D |
Case Study (compulsory) ; . o (1x15=15) .

“Ozone” super market invites you to wnte a C program to read customer name,
item name, rate and quantity.

Calculate the bill payable by ailowing dlscount with the fo!iowmg conditions.

| a} If billis below 500, then No discount.

b) It bill is between 500 — 1000, give 2% discount.
c) If billis between 1000 — 2000, give 4% discount.
d) [f bill is between 2000 - 5000, give 6% discount.

e) If bill is above 5000, give 8% discount.
Print the bill in proper format.
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Reg. No.

Fourth Semester B. Com 3 Degree Examinatlon, May/June 2017
" (Regular) (2016 — 17 Syllabus)

BUSINESS STATISTICS - HI -
~ Time: 3 Hours . o |

- Max. Marks : 80
Instruct:ons 1) Use of s:mp!e calcu!ator is ailowed -
2) Statistical rables are supplied on request.

SECTlON -A .
1. Answer any {en of the following. o C (10x2=20)

a) Define Binomial Distribution. | ' - |

IaEvatoly ENCioles® maﬂ B2RRO.
'b) Mean of Poisson dlstrlbutlon is 2.75. Find its variance and standard vanatlon

smmm 2753008, egddbzs@ém@mag RIS BOTRRI0,

c) Under what conditions b|n0m1al distribution tends to Poisson dtstnbutlon ?

oS RF OGRARIIN BERe DBdFaty Yase® HBSH0R) BRCERRR?

d) Write down probabtllty densny function (p.d.f.) Mean and Vanance ofa standard
normai distribution. .

lovecs @Md @359@0‘53 e,.)@ﬁ NCDA)G 5.)33 633?3@3053?&) udooao

e) On an average 3 deaths occur in a city in a day. Find the probability thaton a
randomly selected day no deaths occur e=3 = 0.0498.

B0 w&éﬁtﬂ@ 20T30 &36@ RTPRO 3 200N ROPIRIBE3. SOUTI 208 &5&3@
BOTEINTO ROWDRE) @sgls Nomeod)ém@l BomE&EB00. €73 = 0.0498.

f) Define ‘Statistical Qualjty Control’ (SQC).
‘T8 s, DOHOZES BBT a0, 8RGO,

~9) Name the different control limits.

DA ACIBED mér{e}@{ TRORD.

h) Define transportation problem.-
‘Toredtad Nﬁ) mgo" BR&E0.

i) Name the methods of solvmg transportanon problem.
‘ARDESEO RESOR, DY, TOBORS DG eg,sadﬁeéda éxm
P.T.O.
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}) What do you mean by a defect and a defective ?
‘o =08 draea’mmf QRIS T WBCWD.
K} Write two examples'of Poisson variate.
Fpmo BBE SOR) GUERHTIHNE), 10,
[} Write Mean and Variance of Poisson distribution.
TRRITT WBTEOR RTDAD 2308 DLW LITCWO.

| SECTION-B
Answer to a'ny three of the following. _ - (3x5=1 5)

1
2. The probablllly that a firer hits a target Wlth one shot is—. If he flres 4shots ata

4"
target, find the probability that he hits the target. ’
i) atleast once o i) aII the 4 times

229, 2OTRBITIVO rboceb BRETN OB 3@@5 ~02§d®eo$3é’ ‘ad @m rb@cz'b 3B

oY, L0 ri)oda BREoN
) m WOTDRO '
ii) mm Ao BRECIES Nozp’d‘aecm@odom 50133&@0&3{)

3. For a Poisson dlstnbunon P(X = 3) P(X 4}, then fmd Mean and Standard
Deviation. . .
TP a’.)édﬁcd)@ P(X 3) P(X = 4) amon 3020 @308) A0 ébéds‘ao'bail

| BomBD. . ‘ ‘ ,

4. Write the properties of Normal distribution.

BRI, DSTFEOI MOLLOTLANIY, W00 ‘

5. Distinguish between Process Control and Product Control.

‘ﬁo@dm QOOZES B ‘TR DO [N SBRIT %mﬁﬁ#&’g (A e ounle}

6. Forthe followihg transportation problem, give the solution using North - West
corner rule.

B3 3N Toroess IRRN mqs‘r-s msrc‘ BRCROT BOTITI), zfozzaao@ome
1 Il ]| IV Supply
A 13 th 15 20 | 200
B 17_ 14 12 13 600
Cc 18 18 15 12 700
Demand {300 300 400 500 | 1500
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SECTION-C
Answer to any two of the following questions. o (2x15=30)

/. a} 2% of the electric bulbs manufactured by a f:rm are defective. SIX bulbs are

randomly selected for testing. What is the probability that at least one of the
- selected bulbs is defective ?

2,000 éodaod.)@ 3008 NavE-y woorfe#@ 2% WeINeh BeeRghOZTNGS.
EINSOT wae%nod ReNTHN6 wmmﬁxb 37?5336@0@3# w@mf@ ﬁé’Dw LWOTIOTTR
CreeRodng um Galobtn Nozgfdaeoba’obab BOTIECN0.

b) Onan average, 1 in every 50 valves manufactured by afirmis substandard

If vaives are supplied in packets of 20 each, in how many of alotof 1000 packets
would you expect substandard valves ?

2,003 o3 Fadnovs 50 megxr{%ﬁ@ 1 O, 83 mwmumﬁ&écﬁ 2,003

—%ﬁwde") 20 megsr{%b G003, 1 000 T B TIOTOR uoda rbocwde‘) if%‘}w rbmdaésd
O, ne Noai rgtoy) @w 9

(e‘°4 06703) - o (7+8)
8. Solve the following transportatlon problem usmg o
a) Matrix— Mmlma Method
b) Vogel's Approximation method.
- B339N Torwesd Nm-" CdJKb
a) WRE - mm 33&353‘
b) Fprier @B Dgw.
VINDOTI VRO

Destination
D, D; D, D,|Supply
o, | 1 2 1 4| a0
Origin O, | 3 3 2 1 50
03 | 4 2 5 9| .
" Demand 20 40 320 10 o 15

9. ‘X’ is a normal variate with mean 64 and variance 144, Find the probabihty that

X oo wmmss wosmﬂa’o JTORD 64 ab& ma’oﬁ 144 AT, B FIAT
NO?;fmeoi)@ﬁ#m BoEIBEBND,

) X>67 _ ii) 60<X<67
iify 67<X<76 iv) X< 60 | - 15
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10. a) Write any two_properties of Kari- Pearson oorrelatuon coeffucnent and regressmn '
lines.

e3) m@mmmmmmmaom&mmmmrmm

b) From the following data, calculate the co-efficient of Karl Pearson $ method
of correlation and comment on the result. = ' _
) BENS TADOT T F LODT AT IO LWH RBRIOLIOT MOFE0T BORIE B mm
TOFTRIT 50530 @Q@Dfﬁ TeLD,
Prlce(Rs) 1 12 13 14 15 16 17 18 19

R~y o

Supply @ 30 29 28 25 15 ? 2 21 18

R | ,

Arithmetic mean of price and supply are 15 and 24, :

236 =) eepc? 6r€e§ €308 mss RooARDCIN 15 do&24 ‘adoéd , (4+11)

_ - SECTION-D ._ - '

Case Study Ana!ysis- D . , 1 (1x15=15)
F3Te0 5,008 ' -

11. A drili makes holes of certam diameter on steel balls. 8 samples of 4 balls each
are drawn at intervals of one hour each. Diameters of the holes are measured
and recorded as follows.

20 TIOTINS 23063 2,003 L9303 FRT m&mfm @0‘ wo&eab iclelevebr:tad
HoeTON 1.0R> AT 03T, Fowy zéocgaﬁ@dms SRS, SREERY NG,
'@d@&ﬁ#mﬁéﬁ#ﬁdoéd '
Sample Measurements
1 5
7
7
9
10
7
9 11
10 11 | 9
a) If the estimates from past experience of mean and standard devvatlon are -
~X'=551ands'=1.6, draw X and Rchart. Comment on the result.
b) If standards are not known, using X and R charts analyze.

a) HRDOS 30w E BT RoROX ' = 5.51 aba)m:bad DB =1 6 ramrs’x
S0 R mww{e}a{; P DFed.

b) TReansh madci awan, X 33 R zs“&s‘rm*ab aeﬁm ébé’t’&w

N A WA

1

o
O D OO N D]

0O ~NOU A WN
—h
©ZMONO®N




Answer to a'ny'th‘ree of the following.
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j) What do you mean by a defect and a defective ? _
gatolooiinvce) ‘dr'aem’abDf_ SEINY 5 WBEAD.
k) Write two examples of Poisson variate.
| PR BSO8R LUTHECHRYRY, WD,
1) Write Mean and Variance of Poisson distribution.
PRI WBTFO30 0RO 5358 DWW LBED.

SECTION-B

- 1
The probability that a firer hits a target with one shot is 1 If he fires 4 shots ata

target, find the probability that he hits the target.
i) atleastonce i) allthe 4 times

' ‘ 1 ' .
22y, LOBRRICID RI0E BAEEN 110 BuTa AoyaRecdssd - arl. ©mEs rook 3ar
T 10 Mord BREN |

i) ﬁaw WOTD A
ii) m@o RO BAHBOIED Noz,ﬁdzoeoi)éo'b& sodo&)@o‘coe

For a Poisson d|stnbut|on P(X = 3) P(X 4), then find Mean and Standard
Deviation.

T IR P(X 3) P(X = 4) w3 Noano :»33 mmxg azdsmasgt

BOBIEROND. |
-Write the propert_ies of'No_rmaI distribution.

BTN, DBOFOD MOLIT samfab B0,

Distinguish between Process Control and Product Control.
‘RoRTeD :oojoossa =03) ‘&R NODOLET TN acmx daa zﬁm 2BO0D.

For the followung transportation problem give the solution usmg North — West
corner rule.

B2 3BNS oTords FSR N mas‘r—d,q TR BREFIOT wemddda FOBIEBOND.
I Il i IV Supply
A 13 11 15 20 | 200
B 17 14 12 13 | 600
c (18 18 15 12 | 700
Demand (300 300 400 500 1500

(3x5=15)
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| SECTION--C
Answer toany two of the following questions.

7. a) 2% of the electric bulbs manufactured by a firm are defective. Six bulbs are
randomly selected for testing. What is the probablllty that at least one of the

- selected bulbs is defective ?
20T FOTIONE) BB vty woorfe}@ 2% wedneh BeemmpdZmNS.

EouTateloie as‘be%nod FEOTONG uwmfdo é’ﬁdoi@o@)r{, @@n’e}@ BF, LOIRTER
BReR0I0E ww Q0D Nozﬁmeodo:a’odﬁ) BOWOEEBOO.

b) On an average, 1 in every 50 valves manufactured by afirmis substandard
It valves are supplied in packets of 20 each, in how many of alot of 1000 packets
would you expect substandard valves ? -

20030 Bo@ROI0 3030 50 OGS 1 mo el ﬁaeamésaaﬁdaa’d WOTD
REFIS 20 megsr{#o Q0ZE3, 1 000 o 8@3‘7@&)&5 200 7{30&)56 6@:3—" Kasadmésﬁ
mo ne Noaj neb Q) 97

(e‘° 4=0. 5703)
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(2x15=30)

| (7+8)
8. Solve the following transportation problem using’
a) Matrix~ Minima Method
b) Vogel's Approximation method.
B WNI Tnoedd B dma.ofod)
a) WLIE -~ QIR dxﬁw
b) Spriee, egp sdeds” Sofe.
VRINSOT VRO
' | Destination
D, D, D; D, | Supply
0, | 1 2 1 4| ®
Origin O, | 3 3 2 1 50
0, 4 2 5 9 20
Demand 20 40 30 10 15

9. X’ is a normal variate W|th mean 64 and variance 144. Find the probabfllty that

X om0 wmma woﬁmﬁdg JTORO 64 R0 &)zs’oﬁ 144 Q&Sd B3 FEAS
Noz.'fmeodaéﬁ#gb B0@EBOND.

i) X>67 _ ii) 60<X<67
iii) 67 <X <76 . iv) X <60

15
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10. a) Write any two,properties of Karl- Pearson corretatuon coeffucnent and regression
lines.

e3) @wrmmmeWM&mmwmmmrmm
b) From the following data, calculate the co-efficient of Karl Pearson S method
of correlation and comment on the result. _

%)) TN TREOT TCTF LONT AT LR LWH RBROWOG TOFBD03 FOBIEBCN00 mm

w@"’b&tﬁ 030 Dd% EBORE FePD, *
- Price(Rs. ) 11 12 13 14 15 16 17 18 19
¥ . : - :
Supply - : 30 29 28 25 15 ? 2 21 18
Excleld . ’
Arithmetic mean of price and supply are 15 and 24 :
2365 02 T ING w08 Nes RoORO3D 15 do3324 QAo - (4+11)
I ' SECTION-D - 1 |
Case Study Analysis: -  (1x15=15)
38080 553 000 | '

11. A drili makes holes of certam dlameter on steel balis. 8 samples of 4 baIIs each
are drawn at intervals of one hour each. Dlameters of the holes are measured
and recorded as follows.
2ee® R0 20063 20 LWB0 HRT d:ad:mf& e:‘ ds&e&b ﬁmdom:%cs
FoedN 10T T L0ITHY, e, z%ozsaﬁ@dase S‘msﬁ@so e ORs,

2333 % R B8 39NBoses,

Sample Measurements f
-1 4 7 5 6
2 3 8 7 7
3 4 5 7 8
4 8 7. 9. 8
5 | 7 9 | 10 8
6 10 6 7 4
7 9 10 11 9
8 10 9 1 9

a) If the estimates from past experience of mean and standard dewatlon are
X'=55tand¢'=1.6,draw X and R chart. Comment on the result.

b) If standards are not known, using X and R charts analyze. A
a) BeTOS BIIIC BT R0RO X' = 5.51 303 RN, VBTB o' = 1.6 [N X
=03y R mas’rﬁ@ab DT DFEAR '

b) wafnas‘a?fdo ﬁ!aédd’ QTR X 3)30 R 23“&3‘:-’#@33 WS> &)236
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Reg. No.

v Semester B Com 3 Exammatlon, MayIJune 2017
| (Regu!ar) (2016 — 17)
BUSINESS COMMUNICATION
Time 3 Hours . o - | Max. Marks : 80

lnstruct;ons 1 ) Answerallthe Sect:ons accordmg tointernal chorces
2) Due weightage will be given to neatness.,
3) Useimaginary names and addresses, dala etc. wherever
necessary

SECTION—A
1. Answeranytenofthefollowing. o | ' (1 0x2= =20)
a) Define communication. | ’
b) Wnte the four physical aspects of a business ietter
| c) What do you mean by ‘AIDA’ techmque in steps of wrmng ?
d) Write any two benefits of choosing right words in writing skills.
: e) Mention any two tybes of messages'.. | -
f) Mention the types of enquiries (requests) in business.
g) Expand — ) C & F ) FOR iy URand iv) COD.
h} W_'rite any: two reasons for complaiht letters in business. -
i} | Define a report. | .
i) Write any two differences between letters and reports.
k) What do you mean by solicited application letters ?

) Write any two objectives of interview.

P.T.O.
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SECTION-B

Answerany three of the following, | - (3x5=15)

N

. Briefly discuss the features of communication.

3. Briefly explain the various barriers to co_mmuriication. -

4. Discuss the steps involved in writing as a part of writing skills.
5

. As the secretary of your college gymkhana, write a letter of enquiry to Novel!
Sports Dealers, Hubballi for supply of sports goods. :

6. Write on behaif of Smruti.Electricals, Davangere, to Spark Electric Sellers,
Chikkodi, a bad news of rejecting their credit request. . '
SECTION-C
Answer any twoof the following. | ~ (2x15=30)

7. Discuss the various parts of a business letter. And show the position of each
part in Fully Biock Form. ' :

8. What are the compiaint letters ? Write a complaint letter regarding supply of
inferior quality goods and not matching with the sampies. Ask for replacementor -
generous concessions. | o

9. Distinguish between Bio-data and C.V. Dratt a letter of interview for the post of
Senior Accounts manager informing the date, time, venue etc.

10. Briefly discuss the requisites of a good business report.

- As the H.R. Manager of a company, draft a report on indiscipline among the
employees and give the rules of discipline. :

- SECTION-D-
Case Stddy—Compu!sory question. ' o (1x15=1 5)
-~ 11. a) Asatrainerinbusiness communication, explain the three ‘Methods of
Announcing Bad News’ to the trainees. - ~

b) Asan advisortoa business firm, guide on different kinds of offeks (quotations).

c)-As a member of structured {patterned) interview committee, list at least
10 questions to be asked to a candidate for ‘Accountant Job’ meant only for
B.Com. graduates.
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Apeadined: 1) 303"(38" cfaz’ngcf GEO I a‘:)gaan?fg?/f QFO0.
2) e egIdedeaoga. -
3) &DFDGL) EOVT BIL, DT, LIS0T L0

azpa_ﬂ— =]

1. SUNSUE, tewass CInITHE TG, B0, | © (10x2=20)
a) ‘RozmI’ T 3,83, Q0. ' |
b) SSRGS ey FRER BRI,
¢) wRdriad Bosnee), ‘AIDA’ 303 208360
d) woscdRon PIuNES 308 Bune salcomens adt&) goiraemafﬁ#m (Neloveiol
e) OSRRYTEIN TR %add ROTIEBNTRO RRLIXD. '
f) FREIBOaD Q0203 YRR RRO,

) 590%0-) C&F i) FOR iii) UR &3 iv) COD
h) a’gsdmddejmoi) BT a?gﬁsﬁ oIy 3e adda &dsaﬁejxg‘ W00,
i) FOOOD S, Vedd. , ‘
j) T 38y TN IR AR Te BR FTR LF000,
k) Bre0d(wm ) el a@ﬁ@ocﬂde& 9
) RoEBrRE CARRTETR SUR> CUBEBRIR WBEWD.

Path ot RN
SUNSPNIY, temr cInIehRTE, o0, o (3x5<15)
2. RoskBIE UPporvR OB N BaF RO, |

3. RoBBITY0DH QOG -3 (98 ) RF Ro3HoN R0V,
4. wOBERoD FPFONY NSy, ‘SRS oY BOBNYRY 13 20.
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5. A@ :Dj% D) 3030 OYIPNG 5GTdF 0300w z;m&),a 8\23“ QOB c,gjaqzbd 20030
‘Breder B Auacw‘r BT, Souﬁ?’ ‘adaﬁ SN0 -’g w3osod.

6. ~ 3 638 %@9 RIS 20 ZoA moz:ﬁa DF030HD éo‘:ﬁo,vd 560 R0, RV von] e dab
*'aafr @d& o qu‘ z&éra °& QA=ON wdcma ' : .

- QWON - ¥

SN, e otnycte o, wgord. - . (2x15=30)

7. ?gdmd et ébaqf a;sarimﬁab( eﬁoﬁrf#a@ W3O a'b& wacdraocb EABTAT Nf#mfo c.g,@éi-_
eszaap mmscm@ BReDRD. . :

8. ejicwm —’gfﬁ‘%?ocﬂd’eab ? iﬁ?"’ rbsamésd Tonn SRTO3R0OR modoadd Nd&)
cgﬁ)%fodd B0 esBeEe -’Saﬁab wdocot) Ndﬁaﬁe}ﬁo WTBSROWRED &P LT
'a)mcmaﬁe#m $c00, . |

9. B -0TT = 55953’ ﬁd) &)3(39& dor#d F Y7 n’e}ds w&:mb REQOITT 8208
ESD Sewo Sacﬁﬁ Noz:s‘afrd B Te) D08, n@oocb, 5 a:b)oaad@mfm 280,

10. 2,000 eruéab smc aﬁd@odo 933 Sa’ﬁt’.#ab ~o€s 5OR 233FRD. uocb BOTHO BRTE
. RODIA® afgsm#zioz:b SO0, emcr}.ra eﬁn’e?@ocb €287 B0 IO Ndwa%@ aivs"a 53
@O&d)ﬁ% ~eR0. .

C yen-a@

%ﬁdw@qﬁm sa—m@g o | (1x15=15)

11. a) v le) Nowsscse Sdﬁe&mdzfodo zpa&),q, B0 ROQCIR 2 @,iwﬁow :)zp?dﬁ#ab
Sdzieéods SR RFNOR LTOVY, _
b) FSZTA oﬁ&iraodd ROTBMOTTOW LT, &)e‘:}z;ﬁ Est.olera] 8@@3 ( emddea) ny i'b&?o
a’mﬁrdﬁrs NeRO.

- C) TedRcang 3 (BRT003Se ) BoTBr S BASC B3R Kelea® E;Dc'bfo, 2.520, dd&)ezﬁd@n
QT ‘ esPokIoss LT o> Sifatyy! eI sam 0 si;ﬁm*do Nd TRD,
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Reg. No.

IV Semester B.Com.3 Degree Examination, May/June 2017
' 'MODERN BUSINESS LAW -
(Regular) (2016-17)

Time : 3 Hours : , Max. Marks : 80

Instructions :1) Support your answers with Section number cases and
‘examples.

2) Allquestions are compulsory except internal choice.

- SECTION-A

1. Answer any ten of the following in one or two sentences. (2x10=:20)
a) What is meant by the term offer ? | '
b) Give the meaning of the term acceptarice.
¢) Whatis meant by the term considei’ation ?
d _Givé two examples of agreement declared void.

)
)
)
e) What is meant by the term performance of a contract ?
f) Explain legality of objectlve
g) Give the meaning of the term quasi- contract
h) Whois guaranter 7 - -

i) Define bailment.

) Whois a minor ? P
k) Mention two types of crimes under cyber law.
| ) What-is meant by right to information ?

' SECTION-B
Answer any three of the folliowing. . ’ (3x5=15)
2 Briefly explaln the kinds of contracts based on enforceability.

3 Briefly explain the circumstances under which surety is dlscharged from hIS
obligation.

. P.T.O.
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4. Write a note on the Constitution of State Information C_ommiséion.
5. Make a list of cyber offences under cyber law.

6. Explain the responsibilities of finder of gobds under Section 71.

- SECTION-C
Answer any two of the following. ‘ ’ : {2x15=30)
7. Explain in detail the essentials of a valid contract- ‘ |

8. What is meant by dlscharge of contract ? Discuss the various modes of
discharge of contract.

9. Describe the cases which are to be deeméd.as quasi-contracts.

10. What are the various obllganons of public authontles under the R.T.I Act ?
Explain.

SECTION-D B
Case Study Analysis | | __
(Compuisory Question) o (1%15=15)

11. a) Prashant, while swimming in the river, cries for ﬁelp, as he was about to
sink. Praveen rescues Prashant for which, Prasha_n't promises to pay Praveen,
areward of Rs. 5,000. But Prashant fails to keep up his promise. Can Praveen
recover the amount from Prashant in the court of law 7

b) A girl of 10 years, obtains a loan of Rs. 7,000 from a money Iender She fails
to repay the loan. Can the money lender file a suut agamst the glrl to recover
the amount of the loan ?

c¢) Radha enters into a contract with Krishna that she would sing at night for

one week at a theatre for a remuneration of Rs. 500 per day. Radha sings at

night for four days subsequently. She fell ill. Can Krishna ask for damages
for loss of income from Radha? | '
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Toedied: 1) DY gD Ferty Sorschs Foisd oz cfvowo’mzfvoa’
jeg}’?&v@
- 2) 0308 wanen asitky), 99 gmw e/ua’aﬂa
TN~ &3 _
INBINGY, BT BIY, woddddd AMUY, eugor0. . (2x10=20)

a) gwd DET OBE RO, %".ra@@
.b) ‘it Cuning SR QeRO.
)
)

BEFO 0TI 9 .

d) ‘esdneisd Somd wéé ou udow@éﬁ@ adcab emaaédm eg30.
e) &mocﬂd S0Te0E @odcfeab 9 '

f) mz%eaﬁd maso:bwcg% @qtﬁtﬁgm?

g) AR wHOTE BEF B ZRE0.

h) $5en0eREBI0R3S od:ad)‘? |

RETEaD wa], 580,

&)mﬁ W

%@ﬁﬁ@r{@ﬁ@ Bezors m& BIner emé&ue . {3x5=15)

2.

3
4
. 5.
6

2RORRYRTCR BE0E Roed LBOBE HFORFRDBosHTON DFORD.

- B0V RETF R BRBMWOFENOT SUFTB FOTF TR, FosTToN D300,
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 Sensgnen denn SUaE, eugoRo.  (2x15=30)
7. 0BRF3 LBens wREE soBRvR) ROTTHIN HRORD.
8. f‘. uﬁwodd NRBET 0TI 9 &,w;pdd &)f-‘g’ur\éodq FATATA ébqﬁﬁ%ﬁ}i 3OO,
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ZIoOGFoLY
(Fmac B3) S (1x15=15)
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